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Chap 7 and 8 REVIEW Study all of your Chapter 7 and 8 Notes, HW, and Review

1.
origin and then Reflect it over the Y axis.
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Rotate AABC whose coordinates are A(3, 2), B(3, 6), C(6, 1) 90° counterclockwise about the
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2. Find the image of AABC after a translation of <4, -5>
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3. Proof
Given: G is the midpoint of FH.
Prove: Z1 = £2 _
c |- G is He miadpoint . Given
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Chap 7 and 8 REVIEW Study all of your Chapter 7 and 8 Notes, HW, and Review

#4-11. For each pair of triangles, tell which postulate, if any, can be used to prove the

triangles congruent.

4 AAEB=ADEC  OAS

6. ADEA = ABEC P\ L.
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8. ARTS = ACBA A AS
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10. ABAP = ABCP SAS

Given: BD bisects /ABC

5. ACDE = AABF A SA

7. AAGE = ACDF > Sg

0. aBC=aaDc  AAS  oc

11. ASAT = ASAR H L‘




Chap 7 and 8 REVIEW  study all of your Chapter 7 and 8 Notes, HW, and Review

12. What is the length of GH , if AGHI = AJKL?
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13. If A CAT = A DOG,CA=4x-y,CT=3y-2,DO=2x+2 and
DG = >\+2y, find the value of x and y. L—va-\} = Fapn P ?’\1“?‘ = X+ 2V
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14. What conjecture can you make if X is the midpoint of PQ and RX . PQ ?
(draw a picture first)

A. ARXQ = ARPQ by ASA congruence,. /%
APRX = AQRX by SAS congruence.

C. ARXP = AXQP by HL HL congruence.
D. The triangles are not congruent.




Chap 7 and 8 REVIEW

Study all of your Chapter 7 and 8 Notes, HW, and Review

15.Given: R is the midpoint of PS
R is the midpoint of QT

PQ=8T

Prove: /P = £S

|. R is the midpont
ofF eS

S 2. R is the mudeont

16.  Giiven: AC L DB. FF 1L DB

:4%5—:87? _A=_F

Prove: _B:=_D
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